#### KARBI ANGLONG AUTONOMOUS COUNCIL,

OFFICE OF THE DIVISIONAL FOREST OFFICER :: KARBI ANGLONG EAST DIVISION. DIPHU

No. A/KAE/NHIDCL/FCA/2023-24/	
From:	
Shri Bikram Singh Rongpi, AFS	
I/c. Divisional Forest Officer,	
Karhi Anglana Foot Divinian Dinha	

Dated:	/2023
Dateu.	2020

E-mail: dfo.t.karbieast@gmail.com

To.

The Chief Conservator of Forests & Nodal Officer (FC Act), Assam

O/o the Principal Chief Conservator of Forests and HoFF, Assam

Aranya Bhawan, Panjabari, Guwahati-37

Sub:-

Compliance of the conditions laid down in the "In-Principle Approval" for forest diversion proposal for 14.46 Ha of forest land for up-gradation on National Highways from Daboka to Lahorijan in Sildharampur RF and Patradisha & Longnit DCRF under Karbi Anglong District in favour of NHIDCL.

Ref:-

(i) B/KAE/NHIDCL/SEC-2&5/2023-24/22/3 dated 18.07.2023

(ii) FG.27/FCA/Proposal/Road/NHIDCL/K.A.E. Divn dated 13.09.2023

Sir,

Please refer to Divisional Forest Officer letter under reference (i) vide which a demand note has been raised for Net Present Value, Compensatory Afforestation and Overhead Cost against the forest diversion proposal for 14.56 Ha of forest land amounting to Rs. 5,02,53,140.67 /- ( Rupees Five Crore two lakh fifty three thousand One Hundred and Forty only) for upgradation of National Highway from Daboka to Lahorijan in Sildharampur RF and Patradisha and Longnit DCRF of NH-29 in the state of Assam under Bharatmala Pariojana on EPC mode in compliance to "In-Principle Approval" vide MoEF&CC letter No 3-ASC/136/4148-49 dated 05.07.2023.

In view of the above, refer to your good office letter under reference (ii) vide which it was informed that after scrutiny of the demand details, it is found that the wages rate for Compensatory Afforestation levies is Rs. 320.00/- (Rupees Three Twenty) only instead of Rs. 344.00 /- (Rupees Three Hundred and Forty Four only).

In this regard, the revised estimate for Compensatory Afforestation with wages rate of Rs 344.00 /- (Rupees Three Hundred and Forty Four only) for Sildharampur RF and Patradisha & Longnit DCRF under Karbi Anglong district is forwarded herewith wherein the grand total of revised CA is amounting to Rs. 2,81,10,818/- (Rupees Two Crore Eighty One Lakh Ten Thousand Eight Hundred and Eighteen) only earlier which was Rs. 2,70,18,439/- (Rupees Two Crore Seventy Lakh Eighteen Thousand Four Hundred and Thirty Nine) only.

This is for favor of your kind information and necessary action.

Enclosed:-Compensatory Afforestation (as per new norms)

Yours faithfully,

I/c. Divisional Forest Officer Karbi Anglong East Division, Diphu

Copy to the Addl. Principal Chief Conservator of Forests-cum-Council Head of Department (Forests), Karbi Anglong, Diphu for favour of your kind information.

> I/c. Divisional Forest Officer Karbi Anglong East Division, Diphu

Memo no. B/KAE/CA/Proposal/NHIDCL/2023-24/ \$ 2 8 - 59

15/09/2023 Dated:

Copy to:-

The Secretary, Department of Environment & Forests, Karbi Anglong Autonomous Council, Diphu for favour of her kind information

The General Manager(P), NHIDCL, PMU-Diphu, Assam for his kind information.

I/c. Divisional Forest Officer Karbi Anglong East Division, Diphu

## NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/ 1927251/2023/Nagafange for 15.84 Hectare Artificial Regeneration (AR) Plantation at for Section-2 (Sildharampur RF)

Area (Ha.) 7.92 ha
Twice Area(Ha.) 15.84 ha

Spacing (mxm) 2 x 2

No. of Sapling/ Ha 2500
Length of Fencing (RM) 2122 \*

Wages rate ₹ 344.00

Sildharampur RF	15.84 Ha
Total area of RF	15.84 Ha

SI.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	Applicable rate	of GST / Ces
lo.	ERECTION OF FENCING		2-11.15		nate, and	ranount (na)	GST	Labour Ces
	a). Cost of full chain link fencing (4' ht with 10 guage 3" dia link) with 2 strand barbed wire to be filled on pre-cast RCC pillars of specific specification and size (2.1m x 0.125m x0.125m) as per details specification attached at 2.5 m apart, including transportation, fitting and fixing for 2122 RM Rs 1706/RM as per estimate (Inclusive of 14.05% GST and 1% Labour Cess).	RMs		2122 mtrs	₹ 1,706.00	₹ 3,620,132.00		
	Sub Total					₹ 3,620,132.00		
B.	INFRASTRUCTURE IN PLANTATION AREA			200 200		(3,020,132.00		
	Construction of camp hut with installation of ring well / tube well	Nos		1	₹ 225,000.00	₹ 225,000.00		
	Cost of tools & inplements	Set		1	₹10,000.00	₹ 10,000.00		
	Cost of RCC signboard & gate including fitting and fixing of the same	Nos		1	₹ 40,000.00	₹ 40,000.00		
	Camp accessories @ Rs 10000/- per camp	Nos		1	₹ 10,000.00	₹ 10,000.00		4-10
1	Sub Total					₹ 285,000.00		
-	GST					₹ 34,200.00	12%	
-	Labour Cess					₹ 2,850.00		1
-	ADVANCE WORK					₹ 322,050.00		
	Raising of Nursery for creation including vacany filling for 3 (three) years (25% + 15% + 10%) and site nursery mortality 15% by using polypots	Nos	4125	65340	₹ 10.00	₹ 653,400.00		
-	Site selection surveying, demarcation, jungle cutting, slash disposal etc. 40 DLs/ha	DLs	40 nos	633.6	₹344.00	₹ 217,958.40		
	Sub Total		The little			₹ 871,358.40	DESCRIPTION OF THE PROPERTY OF	
-	CREATION	STEEL SE					Section May	
-	Soil working, carriage of stamps, polypot seedling and planting of the plantation site including, dibbling of seeds whenever necessary to complete raising of plantation with all necessary opertion @ 50 DLs/ha	DLs	50	792	₹ 344.00	₹ 272,448.00		
(	Contingency	7.92 ha	0	0	₹12,000.00	₹0.00		
-	Sub Total	Mary P				₹ 272,448.00		
1	Lst YEAR MAINTAINANCE							
11.0	1 Weeding, mulching and fire protection works 2 25 DLs/ha/weeding	DLs	100	1584	₹344.00	₹ 544,896.00		
c	Maintainance and protection by way of deploying of watch & ward for site nursery & plantation area (2 DL for 365 days)	DLS	2	730	₹344.00	₹ 251,120.00		
C	Contingency	LS				₹ 10,000.00		0740
1	Sub Total		E CONTRACTOR OF THE PARTY OF TH	CONT DE		₹ 806,016.00		
4	Weeding, mulching and fire protection works 2 25 DLs/ha/weeding	DLs	100	1584	₹ 378.40	₹ 599,385.60		

## NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/ 1927251/2023/Nagarange for 15.84 Hectare Artificial Regeneration (AR) Plantation at for Section-2 (Sildharampur RF)

	25% vacancy filling by 1 year old seedlings from nursery @ 28 DLs/ha	DLs	28	443.52	₹ 378.40	₹ 167,827.97		
	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area (2 DL for 365 days)	DLs	2	730	₹ 378.40	₹ 276,232.00		
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS				₹ 10,000.00		
	Contingency	LS				₹ 10,000.00		
i.	Sub Total  3rd YEAR MAINTAINANCE					₹ 1,063,445.57		
	4 Weeding, mulching and fire protection works @ 20 DLs/ha/weeding	DLs	80	1267.2	₹416.24	₹ 527,459.33		
	15% Vacancy filling by 3 years old seeding from nursery @ 23 DLs/ha	DLs	23	364.32	₹ 416.24	₹ 151,644.56		
	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area (2 DL for 365 days)	DLs	2	730	₹416.24	₹ 303,855.20		
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹ 5,000.00		
	Contingency	LS				₹ 10,000.00	NO THE REAL PROPERTY.	200
	Sub Total 4th YEAR MAINTAINANCE					₹ 997,959.08		7800
1	3 Weeding, fire protection works @ 15 DLs/ha/weeding	DLs	45	712.8	₹ 457.86	₹326,365.46		
	10% Vacancy filling by 3 years old seeding from nursery @ 20 DLs/ha	DLs	20	316.8	₹ 457.86	₹ 145,051.32		
1	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area (1 DL for 365 days)	DLs	1	365	₹ 457.86	₹ 167,120.36		
1	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹ 5,000.00		
	Contingency	LS				₹ 10,000.00	10 7 DE 15	
+	Sub Total   5th YEAR MAINTAINANCE		Control of the Contro			₹653,537.13		Eligiba i
1	Climber cutting, 3 weldings & other silvicultural works and fire protection works @15 DLs/ ha	DLs	45	712.8	₹ 503.65	₹359,002.01		
1	Maintenance and protection by way of deploying of watch and ward for site nursery & plantation area (1 DL for 365 days)	DLs	1	365	₹ 503.65	₹ 183,832.40		
1	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹5,000.00		
9	Contingency Sub Total	LS				₹ 10,000.00		Hara :
6	oth YEAR MAINTAINANCE					₹ 557,834.40		
F	Repairing of Chain link fencing	LS				₹ 25,000.00		
	est mechanical thinning of alternate single trips in the plantation; 1250 nos of stems/ha	DLs	62	982.08	₹ 554.02	₹ 544,087.48		
	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹554.02	₹87,756.05		
u	Maintainance of camp hut, impliments, pkeepment of plantation signboard, ocumentation & upkeepment of records etc	LS				₹ 5,000.00		

## NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/ 1927251/2023/NSG action 15.84 Hectare Artificial Regeneration (AR) Plantation at for Section-2 (Sildharampur RF)

	Contingency	LS				₹ 5,000.00	
	Sub Total					₹ 666,843.53	
K.	7th YEAR MAINTAINANCE						
	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹ 609.42	₹ 96,531.65	
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹5,000.00	
	Contingency	LS				₹5,000.00	
	Sub Total					₹ 106,531.65	VINITE STATE
	8th YEAR MAINTAINANCE						WAYAYA BARANA
	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹ 670.36	₹ 106,184.82	
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹ 5,000.00	
	Contingency	LS				₹ 5,000.00	St. Control of the Co
	Sub Total					₹116,184.82	
	9th YEAR MAINTAINANCE						
	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹ 737.39	₹ 116,803.30	
The second	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹5,000.00	
	Contingency	LS				₹5,000.00	
	Sub Total					₹ 126,803.30	
	10th YEAR MAINTAINANCE						
- 1	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹811.13	₹128,483.63	
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹5,000.00	
1	Contingency	LS	110000		E William	₹ 5,000.00	
	Sub Total					₹ 138,483.63	
I	Total	1272	/ 1			₹ 10,319,627.51	
	Over Head Cost (50% of Compensatory Afforestation)					₹ 5,159,813.75	
1	Grand Total	Sandrus.	Aleman Som	AND A CARROLL AND		₹ 15,479,441	

**Technically Approved By** 

Addl. PCCF cum CHD (F)

Note: Addl. P. DIPH'J.
\* Subject to actual nineserement in the field

\*\* Subject to actual masterement in the field

\*\* Subject to revision of schedule if rates

The rates of fencing have been considered from CPWD norms as per Delhi Schedule Rates 2021

Countersigned By

**Divisional Forest Officer** 

Submitted by

Assistant Conservator of Forests i/c Range Forest Office Western Range, Dokmoka

NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/
1927251 2020-21/
1927251 2020-21/
Plantation at for Section-5 (From Patradisha To Hawarkimi)

Area (Ha.) 6.64 ha Twice Area(Ha.) 13.28 ha Spacing (mxm) 2 x 2 No. of Sapling/ Ha 2500 Length of Fencing (RM) 1487 \* Wages rate ₹344.00

Patradisa DCRF	1.38 Ha				
Longnit DCRF	11.90 Ha				
Total area	13.28 Ha				

SI.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	Applicable r	ate of GST / Cest
							GST	Labour Cess
A.	ERECTION OF FENCING				1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1			7 10 (1997)
	a). Cost of full chain link fencing (4' ht with 10 guage 3" dia link) with 2 strand barbed wire to be filled on pre-cast RCC pillars of specific specification and size (2.1m x 0.125m x0.125m) as per details specification attached at 2.5 m apart, including transportation, fitting and fixing for 2122 RM Rs 1706/RM as per estimate (Inclusive of 14.05% GST and 1% Labour Cess).	RMs		<b>1487</b> mtrs	₹1,706.00	₹ 2,536,822.00		
	Sub Total	W. Droggy				₹ 2,536,822.00		
B.	INFRASTRUCTURE IN PLANTATION AREA							
	Construction of camp hut with installation of ring well / tube well	Nos		1	₹225,000.00	₹ 225,000.00		
	Cost of tools & inplements	Set		1	₹ 10,000.00	₹10,000.00		
	Cost of RCC signboard & gate including fitting and fixing of the same	Nos		1	₹ 40,000.00	₹ 40,000.00		
	Camp accessories @ Rs 10000/- per camp	Nos		1	₹ 10,000.00	₹ 10,000.00		
	Sub Total					₹ 285,000.00		
	GST		G Maria			₹34,200.00	12%	
	Labour Cess					₹ 2,850.00		1%
1	Total					₹ 322,050.00		BASE OF BUILDING
	Raising of Nursery for creation including vacany filling for 3 (three) years (25% + 15% + 10%) and site nursery mortality 15% by using polypots	Nos	4125	54780	₹10.00	₹ 547,800.00		
	Site selection surveying, demarcation, jungle cutting, slash disposal etc. 40 DLs/ha	DLs	40 nos	531.2	₹344.00	₹ 182,732.80		
_	Sub Total	1/4	Z. Const.	2011		₹ 730,532.80		
- 4	CREATION						Ring Harden	William III
Si	soil working, carriage of stamps, polypot seedling and planting of the plantation site including, dibbling of seeds whenever necessary to complete raising of plantation with all necessary opertion @ 50 DLs/ha	DLs	50	664	₹344.00	₹ 228,416.00		
1	Contingency	6.64 ha	0	0	₹ 12,000.00	₹0.00		
10		CONTRACTOR AND ADDRESS OF THE PARTY OF THE P			1 12,000.00	\0.00		CONTRACTOR OF THE PARTY OF THE

## NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/ 192725194629970869144483Hectare Artificial Regeneration (AR) Plantation at for Section-5 (From Patradisha To Hawarkimi)

SI.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	Applicable r	ate of GST / Cess etc.
	5th YEAR MAINTAINANCE				3945 8		GST	Labour Cess
	Climber cutting, 3 weldings & other							
	silvicultural works and fire protection works @15 DLs/ ha	DLs	45	597.6	₹ 503.65	₹ 300,981.48		
	Maintenance and protection by way of deploying of watch and ward for site nursery & plantation area (1 DL for 365 days)	DLs	1	365	₹ 503.65	₹ 183,832.40		
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹ 5,000.00		
	Contingency	LS		107		₹10,000.00		
	Sub Total					₹ 499,813.88		
· Call	6th YEAR MAINTAINANCE							
	Repairing of Chain link fencing	LS				₹ 25,000.00	The Reserve	
	1st mechanical thinning of alternate single strips in the plantation; 1250 nos of stems/ha	DLs	62	823.36	₹ 554.02	₹ 456,154.15		
	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	132.8	₹ 554.02	₹73,573.25		
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹ 5,000.00		
	Contingency	LS				₹ 5,000.00		2.0
	Sub Total					₹ 564,727.40	Boy River	
- [	7th YEAR MAINTAINANCE					LINEAR DE LIZA		
- 1	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	132.8	₹ 609.42	₹ 80,930.58		
1	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹ 5,000.00		
t	Contingency	LS				₹ 5,000.00		
I	Sub Total	Name 1	The U.S.			₹ 90,930.58		
1	8th YEAR MAINTAINANCE	VI STATE		and and the second				
-	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	132.8	₹ 670.36	₹ 89,023.63		
1	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹ 5,000.00		
0	Contingency	LS				₹5,000.00		
1	Sub Total					₹ 99,023.63		E. M. How States
9	Oth YEAR MAINTAINANCE			AND ELLIPS				THE STATE OF STATE
	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	132.8	₹737.39	₹ 97,926.00		
u	Maintainance of camp hut, impliments, upkeepment of plantation signboard, locumentation & upkeepment of records etc	LS				₹ 5,000.00		
6	Contingency	LS	VIII I		A LINGUIS OF THE REAL PROPERTY.	₹5,000.00		
1						₹ 107,926.00	the state of the s	

#### NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/

1927251 ଦିନ୍ଦି ହେ ମଧ୍ୟ ପ୍ରଥମ କଥି । Plantation at for Section-5 (From Patradisha To Hawarkimi)

SI.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	Applicable rate of GST / Cess etc.	
					NEW WATER		GST	Labour Cess
L.	10th YEAR MAINTAINANCE							
	Climber cutting, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	132.8	₹811.13	₹107,718.60		
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation & upkeepment of records etc	LS				₹ 5,000.00		
	Contingency	LS	ES MAN			₹ 5,000.00		E E CARLES
	Sub Total					₹117,718.60		
	Total			10/2/2/		₹8,420,917.82		
	Over Head Cost (50% of Compensatory  Afforestation)					₹ 4,210,458.91		
	Grand Total					₹ 12,631,377		

Total of Section 2 and Section 5	₹ 28,110,818
Rupees Two Crore Eighty One Lakh Ten T	housand Eight Hundred and Eighteen Only

Technically Approved By

Note:

\* Subject to account measurement Fill field

\*\* Subject to revision of schedule if rates

The rates of feering by

\*\* Subject to revision of schedule if rates

Karbi Anglong East Division

Diphu

The rates of fencing have been considered from CPWD norms as per Delhi Schedule Rates 2021

15/9/23

Quntersigned By

Divisional Forest Officer Karbi Anglong East Division

2

Asstt. Conservator of Forest i/c Central Range, Manja

Submitted by

1927251/2023/Nagaland-3

#### NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/

GOVERNMENT OF ASSAM

OFFICE OF THE PRINCIPAL CHIEF CONSERVATOR OF FORESTS AND

HEAD OF FOREST FORCE, ASSAM ARANYA BHAWAN, PANJABARI, GUWAHATI-37

Email: addlpccf.nodal@gmail.com

No. FG.27/FCA/Proposal/Road/NHIDCL/K. A.E. Divn.

Date: 13.9.2023

To,

The Divisional Forest Officer,

Karbi Anglong East Division, Diphu.

Sub:

Compliance of the conditions laid down in the "In Principle Approval" for forest diversion proposal for 14.56 Ha. of forest land for up-gradation on National Highways from Daboka to Lahorijan in Sildharampur RF and Patradisha & Longnit DCRF under Karbi Anglong District in favour of

NHIDCL.

Ref:

Your letter No. B/KAE/NHIDCL/SEC-2&5/2023-24/2213 dated 18.7.2023.

With reference to the above, I am to inform you that after scrutiny of the demand details, it is found that the wages rate for Compensatory Afforestation levies is 320.00, instated of 344.00.

Therefore, you are requested to resubmit the demand note (Compensatory Afforestation (as per new Norms) at an early date for onward necessary action.

(Dr. C Muthukumaravel, IFS)

Chief Conservator of Forests &
Nodal Officer (FC Act), Assam
O/o the Principal Chief Conservator of Forests and
Head of Forest Force, Assam

Copy to:

1. The Addl. Principal Chief Conservator of Forests –cum- Council Head, Karbi Anglong, Diphu for kind information

2. The General Manager (Project), NHIDCL, PMU-Assam, Diphu-782460 for information.

Chief Conservator of Forests &
Nodal Officer (FC Act), Assam
O/o the Principal Chief Conservator of Forests and
Head of Forest Force, Assam

#### GOVERNMENT OF ASSAM

### OFFICE OF THE PRINCIPAL CHIEF CONSERVATOR OF FORESTS (WILDLIFE) AND CHIEF WILDLIFE WARDEN, ASSAM::PANJABARI::GUWAHATI-37

Email: pccf.wl.assam@gmail.com

#### No. WL/FG/Proposed/Road/NHIDCL/KAE Divn.

Dated - 28/08/2023

To.

The General Manager (P)

National Highways & Infrastructure Development Corporation Ltd.

Project Monitoring Unit, Diphu.

PWD colony, Lumding Road.

Email: nhidclsodiphu@gmail.com

Sub: Deposition of 2% Project cost for Human-Elephant Conflict Mitigation & Wildlife Conservation purpose against the proposal for diversion of 14.56 Ha of Forest land for widening/up-gradation of NH-29 from 2-lane to 4-lane divided NH Daboka to Lahorijan in Sildharampur Reserve Forest and Patradisha & Longnit DCRF under Karbi Anglong East Division, Diphu by NHIDCL and regarding.

Ref: (1) MoEF & CC, Govt. of India's letter F. No. 3-AS C/136/2022/GHY/4148-49, dated 05.07.2023.

(2) CCF & Nodal Officer (F.C Act) letter No. FG. 27/FCA/Proposal/Road/NHIDCL/K.A.E Divn., Dated 19.07.2023.

(3) Your letter No. NHIDCL/PMU-DIPHU/D-K/SEC-6/18/2023-24/2746, dated 23.08.2023.

Sir,

Pursuant to the MoEF & CC, Govt. of India's letter dated 05.07.2023 (ref. Sl. No. 1) granting "In-Principle Approval/Stage-I" for diversion of 14.56 Ha of Forest land for widening/up-gradation of NH-29 from 2-lane to 4-lane divided NH Daboka to Lahorijan in Sildharampur Reserve Forest and Patradisha & Longnit DCRF under Karbi Anglong East Division, Diphu by NHIDCL, and with reference to letters quoted under reference sl. No. 2 & 3, it is requested to deposit 2% of the estimated project cost proportionate to the diverted forest areas for Human Elephant/Wildlife Conflict Mitigation and Wildlife Conservation Plan to the CORPUS Fund account of Chief Wildlife Warden, Assam, as estimated below:

#### (A) Sildharampur Reserve Forest:

(a) Total area of land acquisition in the project length = 64.922 Ha, (b) Total area for forest diversion = 7.92 Ha.

(c) Project cost = Rs. 138,32,90,000.00

(d) 2% of total project cost against the diverted area of RF in proportionate to the land acquired = 7.92/64.922 x 1383290000 x 2% = Rs. 33,75,021.35

#### (B) Patradisha & Longnit DCRF:

(a) Total area of land acquisition in the project length = 72.73 Ha. (b) Total area for forest diversion = 6.64 Ha.

(c) Project cost = Rs. 141,46,40,000.00

(d) 2% of total project cost

against the diverted area of RF in proportionate to the land acquired =  $6.64/72.73 \times 1414640000 \times 2\% = Rs. 25,83,035.78$ 

Grand total = (A) + (B) = Rs. 59,58,057.13

Say Rs. 59,58,057/-

(Rupees fifty nine lakh fifty eight thousand and fifty seven only)

#### NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/

1927251/2023/Nagaland-3

#### The Bank Account details are furnished below:

Bank Name: Yes Bank Ltd. Account No.: 019994600000694

IFS Code: YESB0000199

The above mentioned amount of Rs. 59,58,057/- (Rupees fifty nine lakh fifty eight thousand and fifty seven only) may be deposited to Chief Wildlife Warden, Assam by means of Demand Draft.

This is for favour of your kind information and early necessary action.

Yours faithfully,

(Sandeep Kamar, IFS)

Principal Chief Conservator of Forests, Wildlife & Chief Wildlife Warden, Assam.

Copy to Chief Conservator of Forests & Nodal Officer (FC Act) O/o the PCCF & HoFF, Assam, Panjabari, Guwahati-37 for information and necessary action.

Principal Chief Conservator of Forests, Wildlife & Chief Wildlife Warden, Assam.

Copy to Principal Chief Conservator of Forests & Head of Forest Force, Assam, Panjabari, Guwahati-37 for favour of kind information.

Principal Chief Conservator of Forests, Wildlife & Chief Wildlife Warden, Assam.

1927251/2023/Nagaland-3



# National Highways & Infrastructure Development Corporation Ltd. Ministry of Road Transport & Highways, Govt. of India Project Monitoring Unit-Diphu PWD (IB), PWD Colony, Lumding Road, Diphu, Karbi Anglong, Assam- 782460 Email-nhidclsodiphu@gmail.com



A GOVT. OF INDIA UNDERTAKING

No: NHIDCL/PMU-DIPHU/D-K/SEC-6/18/2023-24/ 2746

Date: 23.08.2023

To

The Principal Chief Conservator of Forests, Wildlife & Chief Wildlife Warden, Assam, Aranya Bhawan, Punjabari, Guwahati

Sub: Proposal for diversion of 14.56 Ha of Forest land for widening/upgradation of NH-29 from 2-lane to 4-lane divided NH Daboka to Lahorijan in Sildharampur Reserve Forest and Patradisha & Longnit DCRF under Karbi Anglong East Division, Diphu by NHIDCL - In-Principle Approval/Stage-I Clearance (Proposal No: FP/AS/ROAD/125122/2021) - Reg

Ref: NHIDCL/PMU-DIPHU/D-K/SEC-2/14/2023-24/2712 dated 05.08.2023

Sir,

Please refer to PMU-DIPHU letter under reference vide which it was intimated that the proposal for diversion of 14.56 Ha of Sildharampur Reserve Forest and Patradisha & Longnit DCRF land for widening/upgradation on NH-29 from 2 lane to 4 lane divided National Highway from DAboka to Lahorijan has accorded "In-Principle Approval/Stage-I" clearance vide MoEF&CC's letter no 3-ASC/136/2022/GHY/4148-48 dated 05.07.2023.

2. In this regard, refer to Chief Conservator of Forest & Nodal Officer (FC Act)'s letter no FG. 27/FCA/Proposal/Road/NHIDCL/K.A.E Divn. Dated 19.07.2023 vide which it has been intimated to you regarding issuing of demand note regarding deposition of 2% of total project cost of Human Elephant Conflict mitigation and wildlife conservation purpose into account of CAMPA. As per MoEF&CC circular dated 16.01.2023 relevant extract is as follows:-

"In respect of linear projects, the stipulated norms of 2% towards the cost of Wildlife Management Plan as provided in the Ministry's guidelines dated 08.06.2022, will be proportionate to the extent of forest land involved instead of total project cost or actual cost of implementation of such Plans, whichever is more, should be charged from the user Agency".

3. Furthermore, refer to Divisional Forest Officer, Karbi Anglong East Division letter no B/KAE/NHIDCL/SEC-2&5/FC/2023-24/2527-21-(A) dated 02.08.2023 vide which it was requested to your good office regarding issuing of demand note regarding deposition of 2% of total project cost of Human Elephant Conflict mitigation and wildlife conservation purpose.

In view of the above, following details are intimated:-

- (A) Sildharampur Reserve Forest
  - (a) Total area of land acquisition in the project length = 64.922 Ha
  - (b) Total area for forest diversion = 7.92 Ha
  - (c) Project cost as per letter of Acceptance = Rs.138,32,90,000 ( Rupees One Hundred Thirty Eight Crore Thirty Two Lakh and Ninety Thousanad only)

1927251/2023/Nagaland-3





## KARBI ANGLONG AUTONOMOUS COUNCIL, OFFICE OF THE DIVISIONAL FOREST OFFICER:: KARBI ANGLONG EAST DIVISION. D I P H U

No. B/KAE/NHIDCL/S	SEC-2&5/FC/2023-24/
--------------------	---------------------

From:

Shri Bikram Sigh Rongpi, AFS I/c. Divisional Forest Officer, Karbi Anglong East Division, Diphu Dated / /2023

Email: dfo.t.karbieast@gmail.com

To,

The Principal Chief Conservator of Forests, (Wildlife) And Chief Wildlife Warden, Assam Aranya Bhawan, Panjabari, Guwahati-37.

Sub:-

Compliance of the condition laid down in the "In-Principle Approval" for diversion proposal of 14.56 Ha. forest land for widening/up-gradation of NH-29 from 2 lane to 4 lane divided NH Daboka to Lahorijan in Sildharampur Reserve Forest and Patradisha & Longnit DCRF under Karbi Anglong East Division, Diphu in favour of NHIDCL.

Ref:-

- (i) FG.27/FCA/Proposal/Road/NHIDCL/K.A.E. Divn. Dated 19.07.2023
- (ii) 3-AS C/136/2022/GHY/4148-49 dated 05.07.2023
- (iii) MoEF&CC letter dated 16.01.2023
- (iv) LOA Package-2
- (v) LOA Package-5

Sir,

Please refer to MoEF&CC's letter under reference (ii) vide which the proposal for diversion of 14.56Ha of Sildharampur Reserve Forest and Patradisha & Longnit DCRF land for widening /up-gradation on NH-29 from 2 lane to 4 lane divided National Highway from Daboka to Lahorijan has accorded "In-Principle Approval / Stage-I" clearance.

In view of the above, refer Chief Conservator of Forest & Nodal Officer (FC Act)'s letter under reference (i) vide which it is intimated to you to kindly do the needful for comply with the condition no. A(9),(10) & (11) laid down in the "In Principle Approval" and forward the compliance documents for further transmitting it to the Govt. of India, MoEF&CC, IRO, Guwahati. Therefore, as per MoEF&CC circular dated 16.01.2023 relevant extract is as follows:-

"In respect of linear projects, the stipulated norms of 2% towards the cost of Wildlife Management Plan as provided in the Ministry's guidelines dated 08.06.2022, will be proportionate to the extent of forest land involved instead of total project cost or actual cost of implementation of such Plans, whichever is more, should be charged from the user Agency"

In view of the above, following details are intimated:-

#### (A). Sildharampur Reserve Forest

- (i) Total area of land acquisition in the project length = 64.922 Ha.
- (ii) Total area for forest diversion = 7.92 Ha
- (iii) Project cost as per Letter of Acceptance = Rs. 138,32,90,000 (Rupees One Hundred Thirty Eight Crore Thirty Two Lakh and Ninety Thousand) only

2% of total project cost against the affected Forest Area in proportionate to the Land Acquired area in the Project Land of Human Elephant Conflict mitigation and Wildlife Conservation. = 7.92/64.922 \* 138,32,90,000 \* 2% = Rs. 33,75,021.35

Therefore, 2% of total project cost against the affected Forest Area in proportionate to the Land Acquired area in the Project Land is Rs. 33,75,021.35 (Rupees Thirty Three Lakh Seventy Five Thousand Twenty One and Thirty Five paisa) only.

(B). Patradisha & Longnit DCRF

- (i) Total area of land acquisition in the project length = 72.73 Ha
- (ii) Total area for forest diversion = 6.64 Ha
- (iii) Project cost as per Letter of Acceptance = Rs. 141,46,40,000 (Rupees One Hundred Forty One Crore Forty Six Lakh and Forty Thousand Only)

2% of total project cost against the affected Forest Area in proportionate to the Land Acquired area in the Project Land of Human Elephant Conflict mitigation and Wildlife Conservation= 6.64/72.73\* 141,46,40,000 \* 2% = Rs. 25,83,035.78

Therefore, 2% of total project cost against the affected Forest Area in proportionate to the Land Acquired area in the Project Land is Rs. 25,83,035.78 (Rupees Twenty Five Lakh Eighty Three Thousand Thirty Five and Seventy Eight paisa)

In this regard, you are requested to kindly issue a demand note for the aforesaid estimate amounting to Rs.33,75,021.35 (Rupees Thirty Three Lakh Seventy Five Thousand Twenty One and Thirty Five paisa) against the affected area at Sildharampur RF and an amount of Rs. 25,83,035.78 (Rupees Twenty Five Lakh Eighty Three Thousand Thirty Five and Seventy Eight paisa) against the affected area Patradisha and Longnit DCRF to the User Agency (NHIDCL) regarding deposition of 2% of total project cost of Human Elephant Conflict mitigation and Wildlife Conservation

This is for favor of your kind information and necessary action.

Yours faithfully,

I/c. Divisional Forest Officer Karbi Anglong East Division, Diphu

No. B/KAE/NHIDCL/SEC-2&5/FC/2023-24/ 2527 -31 - (A) Copy to:-

Dated 02 /08 /2023

- P.A. to Hon'ble Chief Executive Member, Karbi Anglong Autonomous Council, Diphu for favour of his kind appraisal to Hon'ble C.E.M.
- 2. The Chairman, i/c Forest Development Board & Karbi Anglong Autonomous Council, Diphu for favour of his kind information and necessary action.
- 3. The Secretary, i/c Environment & Forest, Karbi Anglong Autonomous Council, Diphu for favour of her kind information and necessary action.

4. The General Manager (P), NHIDCL, PMU-Diphu for favour of his kind information.

I/c Divisional Porest Officer
Karbiyand Torest Officer
Karbiyand Torest Division, Diphu

Memo no. A/KAE/NHIDCL/SEC-2&5/FC/2023-24/

Dated: / /2023

Copy to the Addl. Principal Chief Conservator of Forest, Karbi Anglong, Diphu for favour of his kind information and necessary action.

I/c. Divisional Forest Officer Karbi Anglong East Division, Diphu

#### GOVERNMENT OF ASSAM OFFICE OF THE PRINCIPAL CHIEF CONSERVATOR OF FORESTS AND HEAD OF FOREST FORCE, ASSAM ARANYA BHAWAN, PANJABARI, GUWAHATI-37

Email: addlpccf.nodal@gmail.com Date: 19.7.2023

No.FG.27/FCA/Proposal/Road/NHIDCL/K.A.E. Divn.

To.

The Principal Chief Conservator of Forests, Wildlife & Chief Wildlife Warden, Assam, Aranya Bhawan, Panjabari, Guwahati-37.

Sub:

Compliance of the conditions laid down in the "In-Principle approval" for diversion proposal of 14.56 Ha. forest land for widening/up-gradation of NH-29 from 2 lane to 4 lane divided NH Doboka to Lahorijan in Sildharampur Reserved Forest and Patradisa & Longit DCRF under Karbi Anglong East Division, Diphu in favour of NHIDCL.

Ref:

Government of India letter No. 3-AS C/136/2022/GHY/4148-49 dated 5.7.2023.

Sir.

With reference to the above, I am enclosing herewith the Government of India's letter No. 3-AS C/136/2022/GHY/4148-49 dated 5.7.2023 conveying the "In Principle Approval" for forest diversion proposal of 14.56 Ha. forest land for widening/up-gradation of NH-29 from 2 lane to 4 lane divided NH Doboka to Lahorijan in Sildharampur Reserved Forest and Patradisa & Longit DCRF under Karbi Anglong East Division, Diphu in favour of NHIDCL. Therefore, you are requested to kindly take necessary action for compliance of the conditions No. 9, 10 & 11 laid down in the "In Principle Approval" and submit the compliance documents for transmitting it to the Govt. of India.

Enclo:- As stated above.

Yours faithfully,

(Dr. C Muthukumaravel, IFS) Chief Conservator of Forests & Nodal Officer (FC Act), Assam O/o the Principal Chief Conservator of Forests and Head of Forest Force, Assam

Copy to:-

1. The Divisional Forest Officer, Karbi Anglong East Division, Diphu for information.

2. The Deputy General Manager (P), RO Guwahati, NHIDCL, 2<sup>nd</sup> Floor, Agnishanti Business Park, Opp-AGP Office, GNB Road, Ambari, Guwahati-781001 for information.

> Chief Conservator of Forests & Nodal Officer (FC Act), Assam O/o the Principal Chief Conservator of Forests and Head of Forest Force, Assam

1/2/

1894245/2023/Na

#### NHIDCL/PMU-DIPHU/D-K/Sec-2/15/2020-21/

KARBI ANGLONG AUTONOMOUS COUNCIL,

OFFICE OF THE DIVISIONAL FOREST OFFICER:: KARBI ANGLONG EAST DIVISION

DIPHU

No. B/KAE/NHIDCL/SEC-2&5//2023-24/

From:

Dated 18 / 07 /2023

Shri Bikram Singh Rongpi, AFS Vc. Divisional Forest Officer, Karbi Anglong East Division, Diphu

Email: dfo.t.karbieast@qmail.com

To,

General Manager (Project) NHIDCL, PMU- Assam, Diphu- 782460

Sub:-

Compliance of the conditions laid down in the "In-Principle approval" for forest diversion proposal for 14.56 Ha of forest land for up-gradation of National Highways from Daboka to Lahorijan in Sildharampur RF and Patradisha & Longnit DCRF under Karbi Anglong District in favour of NHIDCL.

Ref:-

(i) Letter No. 3-AS C/136/2022/GHY/4148-49 dated 05.07.2023.

(ii) Letter No. A/KAE/C.A./Proposal/NHIDCL/2022-23/2277-79 dated 19.09.2022

Sir.

With reference to the subject cited above, please find herewith the enclosed estimate cost of Net Present Value, Compensatory Afforestation and Over Head Cost (as per latest notification of minimum wage rate) under reference (ii), against the forest diversion proposal for 14.56 Ha of forest land for upgradation of National Highway from Daboka to Lahorijan in Sildharampur RF and Patradisha & Longnit DCRF of NH-29 in the state of Assam under Bharatmala Pariyojana on EPC mode.

The details breakup of the cost is as follows:

Rs. 2,32,34,702.00 1. Cost of NPV over 14.56 Ha Rs. 1,80,12,292.44 Compensatory Afforestation over 29.12 Ha = Rs. 90,06,146.23 3. Overhead Cost Rs. 5,02,53,140.67

You are requested to deposit an amount of Rs 5,02,53,141 (Five crore two lakh fifty three thousand one hundred and forty one) only to the account of CAMPA through e-portal by generating echallan on the web portal (https://parivesh.nic.in/). The CAMPA Account under Divisional Forest Officer, Karbi Anglong East Division, Diphu is tabulated as under:-

Account Holder Name

: D.F.O. K/A EAST DVN. DIPHU CAMPA FUND

Bank Name

: STATE BANK OF INDIA (SBI)

Branch

: DIPHU

Account Number

: 31528799376

IFSC Code

: SBIN0001170 : SHLD00751C

TAN No **GSTIN No** 

: A8AAAGD3093F1ZL

This is for favor of your kind information and necessary action.

I/c. Divisional Fores Karbi Anglong East Division, Diphu Dated

Yours faithful

No. B/KAE/NHIDCL/SEC-2&5//2023-24/

Copy to:-

1. P.A. to Hon'ble Chief Executive Member, Karbi Anglong Autonomous Council, Diphu for favour of his kind appraisal to Hon'ble C.E.M.

2. P.A. to Principal Secretary, Karbi Anglong Autonomous Council, Diphu for favour of kind appraisal

3. The Secretary, Department of Environment & Forest, Karbi Anglong Autonomous Council, Diphu for favour of his kind information.

> I/c. Divisional Forest Officer Karbi Anglong East Division, Diphu

> > Dated

Memo No. A /KAE/NHIDCL/SEC-2&5//2023-24/

Copy to the In-charge, O/o. the Chief Conservator of Forests-cum-Council Head of Department(Forests), Karbi

/2023

Anglong, Diphu for favour of his kind information and necessary action.

I/c. Divisional Forest Officer Karbi Anglong East Division, Diphu